Appendix D

Documentation for the Derivation of Leaching BCL



(3pd"8007d3STT urumq-ajqey |s swesed/ypd/Bad/punpadns/gouoiBas/aod-eda mmm//:d1y) 3|qe) siajawesed ay1dads-|eNwayd 9Yd ¥dIsn ul Pa1sH| S AUndu3w |RIUAWS|S 104 S| SNJBA - € HY
([966T ‘vd3sN 40 Oy 33ed] 8°9 40 anjea Hd 3.3 12) 966T ‘VdISN JO 9p 3|GBL WOy NjeA - G PX
‘v86T “|e 12 saeg 4o T€'Z 34nB14 wouy anjep - e py

“IOW Aiewiud - ©

(dse'wnisauBew/s1aaysioey/A08 yiu'po-spo//:dny 'ajepdn - Jaquidaq ‘wnisaudepy ‘siuawajddns AIEI3IE JO 32O "S00Z ‘YIB3H 4O 2INNISU] [euoEeN)

"Aep/M z jo sjes axejus ue pue sseaA O 0} 0 SIIBWRY puE sajew Joj (YY) Saauemoijie Allep popuswuiodal pejybiam-ebe sbesoae uo peseg - p
10N Aepuodas -2
"(108) 12A8) uosuedwod d1seq Jalem de} 600Z ‘d3AN - q
(My/Buw Z°0 0} 60'0) wnuunie Joy TOW AIBPUODSS 10) usAIB abues Jo wnuU - 8
Pajou asimiaylo ssajun STOW Asewnd ase pue Jpd-|aw/ipd/Iaunsucd/1a1emajes/a03 edammm//:dny woy STOW Iy
(5128 6002 'd3GN) 51343 uositedwod Jiseq 1alem del 4IGN (¥ Pue ‘(Y0OZ ‘vdISN) Dud 133em del vdasn (€ “1DW vdISN A1epucdas (Z 1IN (Vd3SN) 1e4apa3 Alewiid (T :smMOJjoy Se SIOGY 104 Pasn sanjea Jo Ayduesaiy

||10S pue 'J31BM JiOS ‘JiB |10S) |10S 3)Nq |B10} JO SJ3Y = L1

131BM 4O $133 =M
sweJssyw = Sw

SBI0N

SUOIIeLIUSIUOD JIJRMPUNO.LS paseq-ysiy = 1D8Y
12A8} uosuedwod paseq-buiyoes = 1087
101284 uoneNUaNE-UCHNYP = (TDW/**P**) Jva
1URISu0D S, AJUBH SsIjuoIsuWIp = (VM) Hy
(9€ 28ed ‘9661 ‘vdISN Wouy anjea yneyap) Ausosod pajiy-ne = (£1/71) %0
Ne o siay =Y1 (9¢ aded 19661 ‘vdISN Woyy anjen yyneyap) Ausuap ying Aup = (+1/58x) 0
(9€ 39ed ‘966T ‘VdISN W1y IN|EA) JUIIUOD IMsIow = (11/M]) ¥
1U31D1Y200 uonned Ja1em-110s = (SBy /M) Py

S1IINN STOSWAS
epi 8 20+3.°C L0+3%°L 00+30'0 £1°0 ST 0£0 Zo+35Y €00 winiuesn
ep q 20+3Z'8 L0+3L Y 00+30°0 €10 ST 0£'0 20+35°L ¥120 ugysbun)
epx q 90+30°C $0+35°L 00+30°0 €10 [ 0£'0 £€0+30°'L 0st wnyuey |
qpx >N 10+3L°L 10-35°8 00+30°0 £1°0 ST 0€0 00+3€'8 ) 1A
e p) q L0+3¢°L 00+39°€ 00+30°0 £T°0 ST 0£°0 10+30°2 0810 wnuapaAiop

e H qpX E) 00+31°Z 10-30°L 10-3L'% £T°0 (3 0£0 10+32°G 2000 Anasapy
epPx o 10+36°9 00+3¢€°¢ 00+30°0 €10 ST 0£E0 10+36°9 S0'0 aseusbuepy
ep) P v0+3¢°1 20+35°9 00+30°0 €10 ST 0£°0 00+35°V gl wnisaubep
e P 9 20+3S°) 00+39°L 00+30°0 £T°0 ST 0€'0 10+35°2 £0 uoy)

e p) 2 20+30°2 10+36°C 00+30°0 £T°0 ST 0£0 10+36°C 0t Jaddony
e p q 20+39'9 10+3¢°C 00+30°0 £T°0 ST 0£0 L0+35'Y 0£L0 }eqod
= e p) q 20+3Lv 10+3¢°2 00+30°0 €10 ST 0£°0 00+30°€ €L uosog
€ P e £0+3S°L 10+35°2 00+30°0 €10 ST 0€0 £0+35°L 500 wnurun)Yy
seloNHy | selonPy | seronTow | 0z=4va b=4v@ | CvM0My | Gt | @B | (e | (B Py Aw._mm.uv fesyweyd
(s10@1) sieae uosuedwo) aiseg peseg Buiysee Livua  1-d elqel




